Example: Considering the beam with cross-section and the loading

shown. If L = 2 mand P = 10 kN Answer the following: ;~ %L 'i‘ ’%L 'i
1. Draw free body diagram of the beam and determine A — ¢ B
reactions at points A and B. [ﬁ Al = _&L
2. Draw shear and moment diagrams. Also, identify the T - !
location of maximum shear force and maximum bending <— 100 mm —
moment.

3. Calculate the maximum normal stress in the beam due to

bending. Is it tension or compression? :: 20 mm
4. Calculate the maximum shear stress in the beam due to i
shearing forces.
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